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Note : The paper contains three sections A, B and C. 

Instructions are given in each section along with marks. 

SECTION - A 

Attempt any two questions from this Section : 
	2x12=24 

1. 	(a) Distinguish between price elasticity of 
demand and income elasticity of demand. 

(b) Describe the point method of measuring 
elasticity of demand. 

(c) Explain the importance of elasticity of 
demand. 

2. 	Why is the short-run average cost curve U-shaped ? 
How is the long-run average cost curve related to the 
short-run average cost curve ? What is the 
relationship between the average cost curve and the 
marginal cost curve in the long run ? 
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3. Discuss the law of varible proportions. What are 
the causes of diminishing returns ? What are their 
effects on cost of production, output and 
growth ? 

4. What is an economic system ? Explain the 
fundamental problems of an economy. 
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SECTION - B 

Attempt any two questions from this section : 	2x8=16 

5. "Marginal revenue productivity of the factor 
plays an important role in factor pricing". 
Explain. 

6. What is the concept of rent ? Can rent be earned 
by factors other than land ? 

7. What is meant by income inequality ? Distinguish 
between "Personal and" Funtional" distribution 
of income. 

8. Discuss the Loanable Fund Theory of Interest rate 
determination. 
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SECTION - C 

Answer any two questions from this section. 	2x5=10 

9. Distinguish between rent and quasi-rent. 

10. Distinguish between 'extension in supply' and 
increase in supply. 

11. Distinguish between 'Income' and 'Substitution' 
effects. 

12. What are the main features of oligopoly market ? 
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